
Multiply by Powers of Ten (F)Find each product.
1,5378 × 10⁻³ = 2,796 × 10² =
3,3194 × 10⁻³ = 7,25 × 10³ =
7,711 × 10¹ = 2,4682 × 10² =
6,8 × 10⁰ = 1,6824 × 10³ =
0,21 × 10² = 6,439 × 10⁻² =
6,97 × 10¹ = 0 × 10¹ =
7,64 × 10⁻³ = 0,88 × 10³ =
9,6 × 10³ = 2,8072 × 10⁻¹ =
4,2 × 10² = 3,86 × 10³ =
7,31 × 10¹ = 3,157 × 10⁻¹ =
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Multiply by Powers of Ten (F) AnswersFind each product.
1,5378 × 10⁻³ = 0,0015378 2,796 × 10² = 279,6
3,3194 × 10⁻³ = 0,0033194 7,25 × 10³ = 7.250
7,711 × 10¹ = 77,11 2,4682 × 10² = 246,82
6,8 × 10⁰ = 6,8 1,6824 × 10³ = 1.682,4
0,21 × 10² = 21 6,439 × 10⁻² = 0,06439
6,97 × 10¹ = 69,7 0 × 10¹ = 0
7,64 × 10⁻³ = 0,00764 0,88 × 10³ = 880
9,6 × 10³ = 9.600 2,8072 × 10⁻¹ = 0,28072
4,2 × 10² = 420 3,86 × 10³ = 3.860
7,31 × 10¹ = 73,1 3,157 × 10⁻¹ = 0,3157
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